S T UpyY L ENTIRE

HIT THE BULL’S EYE
TEST XXII MENTAL ABILITY

1. The product of two numbers is 120 and the sum of their squares is 289. The
sum of the number is:
a. 20 b. 23 c. 169 d. 225 e. Answer not known
@yewi(h elewidelen GUHEBSMBLGVS 120 OBBID DeuBBler  UTHEBIGHMI  Tn(HSH60
289. etafled BeGleuanimellal FnBHED HT6wID.

a. 20 b. 23 c. 169 d. 225 e. alewL Gafwalsdenso
2. If the total surface area of a cone of radius 7cm is 704 cm?, then find its slant

height.

a. 25 cm b. 32 cm c.16 cm d.7cm e. Answer not known

704 &.605.15 QLTSS LBLUTLL OSTeniL @@ galbllear b 7 Gg.10. erelev,

a.25cm b.32 cm c. 16 cm d.7cm e. alewL Gapfwaledenso

3. The cost price of 16 note books is equal to the selling price of 12 books. find
the gain percent.

a.33 % % b. 20% c.25% d. 30% e. Answer not known

16 Gupmipl ydssmseia Lds alemev 12 CHILG LUSHsmiselar alBLenet
alemeVEGF &L, BFHT BTl FHAIHHMBHDH SHTEIALD.

1
a. 33 3 % b. 20% c.25% d. 30% e. alenL  GaMuwealsvemev
4. Find the value of 1—1 1—1 1—1 ...... 1—i
3 4 5 100
a. i b. i C. i . i e. Answer not known
49 51 50 25
1 1 1 1
: | 1-= || 1-=||1-=|...... -
oBLL a1 ( j( 4)( 5) ( 100)
a L b. L C. 3 d. S e. alowL GaMuelsdemsv
49 51 50 25
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5. @uwsdsl ee0Cemmme@ld  Guearmwemuldh SHHUSTE SBLLSTED, Db Q(LpSHHLD
aendallF FmbeHarell CuIBBLLGD?

a. sevallenwail b. Ggevausmaeail C. 2 uiemyail

d. aiysmaail e. alewL OHfNwaledenew

Propriety of conduct leads to eminence, it should therefore be preserved more
carefully than

a. Education b. Wealth c. Life

c. Valour e. Answer not known

6. Three men A, B and C can complete a job in 8, 12 and 16 days respectively. A
and B work together for 3 days; then B leaves and C joins. In how many days,
can A and C finish the work?

a.2 b.3 c.4 d.5 e. Answer not known
A, B, C aeii cpaum e Gouemevenwt (wewmGui 8, 12, 16 HIL&6M6d (LIQLILITTEHEIT.
A, B @meumbd Goiba oieiBauemevenus 3 BT &EhdHEG OCFuige. eeim B
alevgdaprt, C GCxmdleamrt eeled, A, C @ofwu  Sumeumd Cabg
SIeIGsuemevenl 61SHHemer BT 6160 (LPIQLILITTES6IT?

a.2 b.3 c.4 d.5 e aloor Gxfwealsdenso

7. A man invested Rs. 25,000 at 4% per annum in compound interest and
received the amount Rs. 27,040 after n years, then value of # is
a. 2 years b. 3 years c. 22 years
d. 3% years e. Answer not known
RUHAUT, ©iF60 25000 epUTOW UWIBHG LB aully 4% eaisd WaHeSH OFuig
n owihEeT &WHH 527,040 & OFHTmsWTHL CUBISBTT 6lefled N-6T LDGILIL
wrg?
a. 2 SyemiBBeit b. 3 syemiBseit c. 21> oy emiBaelt
d. 3%2 syemiBseit e. alenL Gafwealsvemnso

8.  The population of a town is 176400. It increases at 5% per annum. What was
its population two years ago?
a. 160000 b. 194481 c. 194040
d. 170000 e. Answer not known
QB BBIJHHET  WHHTOHTMS 176400. @61GeuTH SLewiBL 5% SFEMNSSBSI
oT&dl60 ETERILMTNIBHEDHDHE (Pl DIbBHBIHH T LDHHETOHTENS 6161161616 ?
a. 160000 b. 194481 c. 194040
d. 170000 e. alewL Gafuialsvemsv

9. If1+2°+3+.....+k¥=14400, find the sum of 1 + 2+ 3+.....+k

a. 144 b. 169 c. 120 d. 441 e. Answer not known
P+2°+3 +....+k>=14400 aafled 1+ 2+ 3+....+Kk 651 FnBH60 eleiien?
a. 144 b. 169 c. 120 d. 441. e. alowL GaMuwelsdemev
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10.  QuIBTe® 2 ML WL $aHeL @eveorHeuTm  Gumev,  QPUSHBLD
B60UTHAINL Ul QUTDHMBUTED 2 WITe] EeLeNEOWITELD.
a. SGHID b. emdasid c. allgpriub
d. ®@wenu e. alew QHflwaledenew
Just as the envious man will be without , so will the man of
destitute of propriety of conduct be without greatness.
a. Wealth b. Effort c. greatness
d. Suffering e. Answer not known

11.  From the positions of a cube are shown below, Which letter will be on the face
opposite to face with 'A'?
A A D D

B E E F
F c € C

a.D b.E c.F d.B e. Answer not known
&Cp CamThHEaIULB6Ten Qb S FHITHHe LeBeaupl Henevdemend Osmewi®, “A”
aaim  GPUILOUL BeTen (WeHHBG 6IHT (WBHH6L 6h H 6I(RSHSHI UHLD 61Tyl

SIBLIYSHHLD?
A A D D
F y C E C = C i
a.D b.E c/R d.B e. alewL  Gafwalsdenso

12. On subtracting 5 from one-fifth of a number, the result is 10. What is the
number?
a. 15 b. 25 c. 50 d.75 e. Answer not known
P elewienlled 1/5 umded Bwmbal 58 HHHHTO aloLuwns 10 Sl sSBE
o60 SIS 6l6wl WITGHI?

a. 15 b. 25 c. 50 d. 75 e. alowL Gapfwalsbenso
13.  The value of \/10 + \/25 + \/108 +154++/225 s :

a4 b.6 c.8 d.10 e. Answer not known

\/10 + \/25 + \/108 + *\/154 ++/225 &1 &I STewis

a.4 b.6 c.8 d.10 e. alwr OxMNweaisvensv

14. Kuzhali’s age is two years less than twice of selvi’s. If kuzhali is 16 years old,
how old is selvi?

a.”7 b.9 c. 14 d. 10 e. Answer not known
Gweiuler euwgk OGFsvalulsr sauwgHed &m WLmmS ol @I LS (GmHB6.
Gwelulelr eIkl 16 eTaipTed OFeLalulenT 6uwIgh) 6T6sTen?

a.”7 b.9 c. 14 d. 10 e. alewL Gafwalsdenso
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15.  QpEaHHNenl BRISTHEUT WmT?
a. OFmab@emL GuimT b. werauedeno o e Guimit
C. LeveunsleyemL Guumit d. @6 2 e Gt
e. alewL OFflwealsdensv
Who does not deviate from morality?
a. hauteur persons b. mentally strengthen persons
c. low knowledgeable persons  d. hostility person
e. answer not known

16.  The sub triplicate ratio of 64 : 729 is

a.8:27 b.4:9 c.27:8 d.9:4 e. Answer not known

64 : 729 aeip aHBSHHT Hlemewt (LPIDIOLHIG &S

a.8:27 b.4:9 c.27:8 d.9:4 e. alewL Gapfwalsdenso
17.  Find the LCM of the following: 90x2yz3, 150xy3z2, 225x3y3z

a. 15xyz b. 15x3y3z3 c. 450 x3y3z3

d. 450xyz e. Answer not known

Uesteumeueeumpilen 15.Gum.o. smewr: 90x2yz3, 150xy3z2, 225x3y3z

a. 15xyz b. 15x3y3z3 c. 450 x3y3z3

d. 450xyz e. alenL Ozflwalsdensv

18.  The greatest number of 4 digits which is divisible by 20, 25, 40 and 75 is

a. 9600 b. 3000 c. 9800

d. 8540 e. Answer not known

eTemisseil 20, 25, 40 oBm@id 75 60 uGUBLD WsLGUfw BTG ©6vdHsd 6Tew
a. 9600 b. 3000 c. 9800

d. 8540 e. alewL Gafuaisvemsv

19. If @ isdefined as x @y = x2 + 2y, find the value of p if 4® (3P p) =50
a.4 b.7 c.8 d. 125 e. Answer not known
D qeip Grwedwmes xPy =x2 + 2y aar amuopssiu@, 4P (3D p) =50
oTends  GBTHESILLLTE, P —6T G SHT6Isk

a. 4 b.7 c.8 d.12.5 e. alowL GaMuwealsdemev
20. paMEG aldbsTeug 6H?

a. o6 b. wuewn C. [B6VECOTIDEHEHID

d. Gzeitel e. alewL OFflwaledenev

Propriety of conduct is the seed of

a. The possession of love b. Courtesy c. virtue

d. hearing e. Answer not known

21. The H.C.F of x2+4x-12, x3+6x2-16x
a. x+2 b. x-2 c. 2-x d. x(x-2) e. Answer not known
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22.

23.

24.

25.

x2+4x-12, x3+6x2-16x erasiuareumpien 18.6u.eu (HCF)
a. x+2 b. x-2 C. 2-x d. x(x-2) e. alewL Ozflwaisdeney

The length and breadth of a room are 8 m and 5 m respectively. A red colour
border of uniform width of 0.5 m has been painted all around on its inside.
Find the area of the border.

a. 12 m? b.14 m2  ¢.30 m?2 d. 32 m?2 e. Answer not known

8 15 memupd, 5 15 BN OFBTWIL @h Sjewpuied o L Lpons  Fymer  Fleullyy
alemienIlLTend 0.5 15 SEBHHe0 UFUILUGSHBEH.  Feuliy  euewTemT ILTen U 60T
LTLILIGTG)Y SHT60TE

a.12 m2 b.14 m?  ¢c.30m? d. 32 m2 e. alowL GaMuwealsdemev

If X +% = then the value of X+ F is

a. 90 b. 110 c. 120 d. 80 e. Answer not known
X+%=5m6§ﬂﬁb X +%u_‘ﬂ6tir gL

a. 90 b. 110 c. 120 d. 80 e. alwL Gafwalsdenso

The area of a trapezium is 352 sq. cm and the distance between its parallel
sides is 16 cm. If one of the parallel sides is of length 25 cm then find the length
of the other side.

a.19 cm b. 8.5 cm c.46 cm d.16.4cm  e. Answer not known
ugtiveney 352 &.05.15 BB BH SenenrliLsShSEHHHmLGuwrear CFHTemeve] 16
CF.15 OammewiL. gfleushHHer e ILbEhHaMNe0 @asler oSlene 25 .15 eefev,
LOBOBTEITENME  SHT60ISH

a.19 em b. 8.5 cm c.46 cm d.164cm e alenL GQxfwealsvensv

S CQFTBHemeT  FHouplujld  HWOIPMLUI  aUTWITED  QFTEOMID  GBMBD, QUPHSLD
2 ML WAITHGL OUTHHHTHITGL. 6I6aILmS 2 MITHHID GHB6T 6157
a. PUPES (PeOLWealTeHEG esveuTGa &l
QURSSIUWD eumwimB  GlaTeveD.
b. @uissder auigieuT G B 6
gWIGIaUT eTWISTL L.
C. RPEBHH @eoaTT 2 JGeutT B(pdHdHH 6
g5l LGS fibe)
d. SIWEET BIDLWTEIHT ShbHDCUTEIDI He0en60
RGP LOGUTEIIHENT © U6
e. almL Oxfluwailsdensv
Choose the apt Kural for the following meaning
Those who study propriety of conduct will not speak evil, even forgetfully
a. It cannot be that they who 'strict decorum's' law fulfil,
E'en in forgetful mood, should utter words of ill
b. 'Tis source of dignity when 'true decorum' is preserved;
Who break 'decorum's' rules endure e'en censures undeserved
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c. The strong of soul no jot abate of 'strict decorum's' laws,
Knowing that 'due decorum's' breach foulest disgrace will cause
d. The envious soul in life no rich increase of blessing gains,
So man of 'due decorum' void no dignity obtains
e. Answer not known

26. How many 4's are there proceeded by 7 but not followed by 3?
59321742697461328741383256743958201
87463

a. Four b. Three c. Six d. Five e. Answer not known
LeSTeu(heuaTouBBIeT  eTHHMEN  BTSIGHDB6NT, 75E& DBHHITEH  UHSIGIBET, D660
SUBBIBGL LI6Tenmed 3 auhHeuglevensv?
59321742697461328741383256743958201
87463

a. BreiE b. ewpesil C. ol d. sba e. alowL Gafuealsdemev

27.  Find the total volume of 14 cubes whose edges are 12 cm, 13 cm .... 25 cm

respectively

a. 621019 cm3 b. 269101 cm?3 c. 962101 cm®

d. 101269 cm3 e. Answer not known

12 @g.18., 13 @g16,... 25 Q&.6., S FwaBdB (WoBCL LSS DIETE|HTTHS
CamewiL 14 el FHITRIS6TET OLOTHS ST Sl6NeneUd SBIT6015.

a. 621019 OQg.f.’ b. 269101 Q&.16.° c. 962101 Qg.f.’

d. 101269 Q.18 e. el Oafuialeamen

343x343x343—-113%x113%x113
28.  Find the value of

343x343+343x113+113%x113

a. 230 b. 240 c. 235 d. 229 e. Answer not known
343x343x343-113%x113%x113 ) . .

(343 %343 +343=x113+113 ><113j @ DHLL esTaies

a. 230 b. 240 c. 235 d. 229 e. alowL GaMuwealsdemev

29.  Find the odd man out in the following: 1, 5, 14, 30, 50, 55, 91
a.b b. 50 c. 55 d. 91 e. Answer not known
Lelteubd etemibe GHTLTeuflengulled QUTHHSHTSH 6TemTeN6mIdh HT6UID.
1, 5,14, 30, 50, 55, 91
a.5 b. 50 c. 55 d. 91 e. alewL OxpMwaledenso

30. @mepm&S @D LWSHEGWD HeTbHHIS
orgm ST weuTshE
B GMeNed aUHLD “LO(HeNT” eTIB GFTevelleT GUIT(HET WTg?
a. OIBHMD b. wwssid C. SUHBID
d. swssbd e. alewL OHfNwaledenew
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iruLnheengi inpam payakkum maruLnheengi

maasaRu kaatchi yavarkku

In this Kural the term marul means

a. agandhai b. mayakkam c. Aakkam
d. Thayakkam e. Answer not known

31.  Circumference of a circle is always

a. Three times of its diameter

b. More than three times of its diameter

c. Less than three times of its diameter

d. Three times of its radius

e. Answer not known

AL HHT FBBeN6eY 6leiTgh 6T IGLTHID
SIHT all L Hmapll Gumed cLP&Im  LOLBIG
SIH&T Al L SHHeT cpeiiB L EIenS el DIFHSLD
SIH&T Al L GHFHeT el oL menSaIL LI G636
DI YYTHMSL GUITed el  LOL KIS,
alenL  OFfwailsveney

o an o

32.  The ratio of the volumes of a cylinder, a cone and a sphere, if each has the
same diameter and same height is

a. 1:2:3 b. 2:1:3 c.1:3:2 d. 3:1:2 e. Answer not known
gwowrer el LD BB 2 wjb o MLUl QT o (hWel, @b dnlbl| WLBBID &b
CarendFlar Hen Sieneaydeaien eldsHn

a. 1:2:3 b. 2:1:3 c. 1:3:2 d. 3:1:2 e. alewL OxpMwalsdenen

33. The amount of concrete required to build a concrete cylindrical pillar whose
base has a perimeter of 8.8 m and whose curved surface area is 17.6 m? is

user =2 |
user=—/|___
7
a.8.325 m3 b. 9.725 m? c. 10.500m3
d. 12.32m3 e. Answer not known

SIQILTGF Gimene] 8.8 1 WHEHID euenenuyliy 17.6 1506 Q@Temi @ STaEdIfl
o _(Hewen algald SHewewd S HaudBSGHSH CHemeuliuBd FOwewi  Heveneuu e

) { 22}
SI66e) 6eleiter? ( use7r=7 )

a. 8.325 183 b. 9.725 152 c. 10.500 153
d.12.32 8 e. alewL GaMuwealsvemev

34. The marked price of an article is 20% more than its cost price. A discount of
10% is given. After discount the price is Rs.518.40. What is the cost price?
a. 480 b. 576 c. 596 d. 598 e. Answer not known
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@ OQuimeien 9l dsalmevemw ol G¥sHdH el 20% SHHLD. GV
QuTHEnsE 10% HeT@pLy SILLUGHABSEH.  HellEpUdH@ et CQuTmhelea alenev
.518.40 etelled, SIbH OUTHeTET DL HBHaTemev 6l6iTerT?

a. 480 b. 576 c. 596 d. 598 e. alewL Gapfwalsdenso

35. obe  GeemwigweuBenmsd — &Bml,  Owuil Qumhenen 2 ewiThHeuT  LSewiBLD
QUMITS UL iDL GUT.

a. O@piiBe b. UpiiBe C. 2 _WBHIHBE

d. @meu ggibeoame e. alewL OHfNwaleenew

They, who learned to know the True Being, enter the road which returns not
into this

a. death b. birth c. world

d. none of these e. Answer not known

36. A shopkeeper buys three articles for Rs.325, Rs.450, Rs.510. He is able to sell
them for Rs.350, Rs.425 and Rs.525 respectively. Find the gain or loss to the
shopkeeper on the whole?

a. Rs. 10 gain b. Rs. 5 loss c. Rs. 15 gain

d. Rs. 20 loss e. Answer not known

@@  elBuUmeIITeNT clpaiml QUIHL demenm eh 325, ¢r 450 wBmib e 510 o6
UTRIGADBTT. SleuBes (PeopGw ap 350, ap 425 wmmIDd ep 525 e alBLEDE
CeISBTT. SleumHeLW OITsHs EeVTUD DIEL6VSHI BL L LD &HT6wsm.

a. .10 eoTuILD b. .5 BLWD C. @h.15 eumud

d. e5.20 BULID e. alewl Oxfwalsieneo

37. A spinner of radius 7.5 c¢m is divided into 6 equal sectors. Find the area of each
of the sectors.
a. 9.37 sq. cm. b. 8.4 7sq.cm c.29.46 sq. cm.

d. 48s 7 sq.cm e. Answer not known

7.5 Q.15 Suyweien @ eOLNTeTeld Bl o SleneleTen  eul L SHGHmemniL
ugdHsenmall  Ufssliul BeTeng  eeled, @6lbeumm  eul L &Csmewill  LiGdule
LFLILIGTeN6UW|D  &BIT6U0TS

a. 9.37 sq. cm. b. 8.4 7sq.cm c.29.46 sq. cm.

d. 48s 7 sq.cm e. alewL  QFfwaisoenso

38. A garden is in the form of a triang]le. Its base is 26 m and height is 28 m. Find
the cost of levelling the garden at Rs. 5 per sq.m.

a. Rs. 2000 b. Rs. 1820 c. Rs. 1900

d. Rs.1850 e. Answer not known

Q CapmlLomerg (PpHCHTENT aUQAIDTS 2 6TeNHl. DS QLSS Sleey 26 L5
BB SiHer 2wy 28 I eaeled HCHTLSHHewen FWUILUGHS @ FHT
BLL[hES h.5 aiHd G CordHsh OFevey wmg?

a. Rs. 2000 b. Rs. 1820 c. Rs. 1900

d. Rs.1850 e. alewL GaMuwealsdemev
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39. In simple interest, a sum of money doubles itself in 10 years. In how many
years it will get triple itself.
a. 15 years b. 20 years c. 30 years

d. 35 years e. Answer not known

ool uied @ gL 10  SLemiBHelled @ LBISTEMED DbhH  SIF6D
(PIDIOLBISTS OTBIISBE DIeVeVSHI 2 WI(HOUSBEG 61HDHMET LIHEH6T DLGHLD?

a. 15 semiHaoel b. 20 syeBHe C. 30 oyewI{HH6i

d. 35 syewiBsel e. alewL GaMuwealsdemev

40.  QTHIeT6ND o 6iTeng o euorfledl 6 (H&HeMEOUITL
Guirggleiten Geuemrmit LIl
aSIB GHMeMed eU(HD RTHHeL™ 6leiB OlFTeL6 GUTHeT wiTg?
a. SITUISHED b. QuTBIS S C. auelwmlgen
d. smhigse0 e. alewL OFNwealevenev
OrththuLLam uLLadhu uNarin orudhalaiyaap
paerththuLLa vaeNdaa piRappu
In this Kural the term orththul means
a. Aaraaidhal b. poruthal c. valiyaridhal
d. thangudhal e. Answer not known

41. A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find the

principal
a. Rs. 7,200 b. Rs. 7,000 c. Rs. 7,300
d. Rs. 6,200 e. Answer not known

kb GIUIL Ostmswras 8% ey ofssHed 5 ouaiGseied e5.10,080
AFBHI. DIFNEVDH BHT60TH.

a. 5.7,200 b. es. 7,000 c. eap. 7,300

d. em. 6,200 e. aleowL Gafualsdenso

42.  The average of 5 no’s is 120. Later it was found that instead of entering
correct value 15, data is wrongly entered as 5. Find the new correct average
a. 120 b.125 c. 126 d. 122 e. Answer not known
5 oewiskefenr ggmafl 120 gue. et Qeubmled @b efewt 15 e16diB  gfluimest
waHliemy oG 5 6B HeupTer FHUIUTES 6IhHSH FITaM SMSSHL LG OFHfwl
aubsFH. LHw gflwmer ggmefl eresten?

a.120 b. 125 c. 126 d. 122 e. alowL GaMuwealsdemev
43.  Find out the compound interest of Rs.5000 for 2 years at 6% per annum.

a. Rs.681 b. Rs.618 c. Rs.600

d. Rs.1200 e. Answer not known

.50005@, 2 i BHTVHHL PewihbGH 6 FHald SgliumLuied B
QI lgemwds BB Llgdhdea|b?

a. Rs.681 b. Rs.618 c. Rs.600

d. Rs.1200 e. alewL GaMuwealsdemev
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44.

45.

46.

47.

48.

49.

The compound interest on I 8000 at 10% p.a for 1 year, compounded half
yearly is?

a.X 720 b. X 820 c.X 920 d.< 700 e. Answer not known

I 80008 10% o euliguiled, @F ouemwiheEGH, DADIUTETHEG @H(LPDB
AL I9sh SHEMTHBILLILILLT6D, HeWL G Fnl (Heullg?

a.X 720 b. < 820 ¢.X 920 d.< 700 e. alewL Gapfwalsdenso

QLoUIUENTTEHED DIFHMTT 616001

a. 33 b. 34 c. 35 d. 36 e. alowL GaMuwealsdemev
Chapter number of Truth consciousness is
a. 33 b. 34 c.35 d. 36 e. Answer not known

The C.I. on Rs.24,000 at 10% per annum for 1 %2 years where interest being
compounded half-yearly is

a. Rs. 3783 b. Rs.3873 c. Rs.3378

d. Rs.3837 e. Answer not known

6 LIBHIBES @B (WOB 6lllg SerdbALILL LT 52400058 1 Y2 oiemi®
BMvHHBSG 10% ey aldsHHed HMLESGD il B ULl 6l6Tenn?

a. Rs. 3783 b. Rs.3873 c. Rs.3378

d. Rs.3837 e. alowL O fNwealsened

The dimensions of a fish tank are 3.8 m x 2.5 m x 1.6 m. How many litres of
water it can holds?

a. 1521 b. 15201 c. 15200/ d. 1520001 e. Answer not known
@@ a1 Gamiuwraig 3.8 8 x 25 15 x 1.6 15 aaiiB Sjemeysemnen o L WGl
ObsdH ST QUITEIHI 61HHMeT UL LT HevreniT OlBmelTEmLd?

a.1521 b. 15201 c. 152001 d. 1520001 e. alewL OGsxfwalsdenev

The simple interest at 5% per annum for 5 years will be Rs.50n a principal of
a. Rs.5 b. Rs.500 c. Rs.200 d. Rs.20 e. Answer not known
Rm  pWgBGEH 5% Safaly el 5 PWBHEHHG SNl @h S5 erefed
SiFedlet I wrgl?

a. Rs.5 b. Rs.500 c. Rs.200 d. Rs.20 e. alewL Gaflwalsdenso

Neelaveni goes by bi-cycle to her school every day. Her average speed is
12km/hr and she reaches school in 20 minutes. What is the increase in speed,
if she reaches the school in 15 minutes?

a.4 km/hr b. 8 km/hr c.1km/hr

d.5 km/hr e. Answer not known

peuBeuewi  FHaBGHTBILD  WHeuewnguied UeTaldbGHF OFOSHBTeT. Sleueng Fyma
Gausd 12 & /| wewl s GOmbhHTe, Selel Usaflmws GF@menul 20
BOLmiseT oidmal. SeveT 15 Ml SFed ueTeflenwF OFaBLHHTEL Die6THI
SIFHBMHH Geusld er6ilel6e,?
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50.

51.

52.

53.

54.

55.

a.4 km/hr b. 8 km/hr c.1km/hr
d.5 km/hr e. alewL GaMuwelsvemev

GBBHHT QUWIT CBBOTH QUYPHETEL HIGTLRKIGHET eUTITOR & HBLD.

a. &b b. Geugef C. LDWIGSBID

d. @mal SimaIHSHID e. alewL OHfNwaleenew

If the very names of these three things, be destroyed, then will
also perish the evils (which flow from them).

a. desire b. anger c. confusion of mind

d. All of these e. Answer not known

15 men can complete a work in 54 days, then 9 men can complete the same
work in

a. 45 b. 51 c. 90 d. 100 e. Answer not known
15 s sem @ Gouemevenws 54 mIL&efed OFuigh  wWysdameart. 65
Gouemevenll 9 S FH6IT GTHHME BT SH6M60 QFUILH (LPIQLILIT?

a. 45 b. 51 c. 90 d. 100 e. alewL GxMwaledenso

If the number 48327 * 8 is divisible by 11, find the missing number.

a. 1 b.2 c.3 d. 4 e. Answer not known
48327 * 8 e1etip etew1 11 &6 BHUWISNY euGUL * &G OBTHESBILLGInlgUl 10HH
GMDBHS LOFHILIL] 6T6sT60T?

a. 1 b.2 c.3 d. 4 e. alewL OxpMwaledenso

A is twice as good a workman as B and together they finish a piece of work in
14 days can A alone finish the work?

a. 11 b. 21 c.28 d. 42 e. Answer not known

A aauaut B-eow &mligenid @@L mi@ Fpiiuns Calemevenut QFUIeUTT.  B(Heu(hiD
Cahg SIbd GCeouemevenws 14 BIL&efed (WpliunTser. aaBGa A WL BD b
Gouemevedl (PIYHBH 61HHEM BT H6IT SHLEGHLD?

a. 11 b. 21 c.28 d. 42 e. alowL GaMuwelsdemev

How many prime numbers lies between 1 to 100

a. 26 b. 25 c.24 d. 20 e. Answer not known
1@ 10050 DL G DIHLHEHIGTEN LIST 6Tewmishere cTenienllhbend 6161616167
a. 26 b. 25 c.24 d. 20 e. alewL OxpMuwalebeneo

SIBOTONSIHEH (HSH SDiMeyenLwimt GoHexwientd
Fpagiomba Carba Osmerne.
aeIm @Gmefed aumldD “Copewtento” eleiip GFTeL6IS OLIMTHeT WTgH?

a. ply b. uensemio c. Qumemip
d. wmewiy e. alewL Oxfwaledenew

aRanaRindhu mooththa aRivutaiyaar kaeNmai

thiRanaRindhu thaerndhu koLal

In this Kural the term kaenmai means
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56.

57.

58.

59.

60.

a. natpu b. pagaimai C. perumai
d. manbu e. answer not known

Two pipes can fill a tank in 10 hours and 12 hours respectively while a third
pipe empties the full tank in 20 hours. If all the three pipes operate
simultaneously, in how much time the tank will be filled?

a. 7 hours b. 8 hours c. 7 hours 30 min

d. 8 hours 30 min  e. Answer not known

Breni® GWTUIS6T @ BT igenuwl (pewpGuwi 10 el B®ID 12 wewil GHy&Hae0
BIlu  Sniguienel.GoglIld  ceBTaUSH @ GHWTLI peidHl (P OHTLIgenuiujd 20
el CrrHFHe0 &MY QFUIWS Sl GTUWISEHD  @Cr  GBrsHHle0
GFweoLLTe0 OFHTLIY (PpUpeug D BIFbL eleleuene] GBIb SLELD?

a. 7 wewf b. 8 wewf c. 7 wewfl 30 pHid

d. 8 wenfl 30 e. alewL Gxfwalsdenso

How many triangles are in the following figure?
&6 o 66Nl UL GHFH60 61HHMEN (LPSHECHTEWIMISET 2 _6iT6TT60T.

a.12 b. 13 c. 14 d. 15 e. Answer not known

A speed of 54 km/hr is the same as

a.13.5 m/sec b. 15 m/sec c.21 m /sec
d. 27 m/sec e. Answer not known

54 &uS/10 Geusblomendl SDdEHERILUBEIET IHBGSHF FIOID?

a.13.5 m/sec b. 15 m/sec c.21 m /sec
d. 27 m/sec e. alewL Gxfuwealsvemev

Find the difference between simple interest and compound interest on
Rs.2,400 at 2 years-at 5% per annum compounded annually.

a.Rs.5 b. Rs.6 c.Rs.8 d. Rs.7 e. Answer not known
.2,4005@ 5% e aully afFHbD 2 SLEBHeI0 HMLEGD B Ul 19HGLD
FHAaU 19hGHID 2 6ol alSHHWTFID HT6wIS.

a. .5 b.c.6 c. om. 8 d. .7 e. alowL GaMuelsdemsv

BlILmen] E6060TSH GJLOJIT  LDEGTEOT6I

Qas®UUTT Beumenild GaHLD.

aSIB GHMeMed eU(HD gD’ 6Ty OFTe0EIl6 GIIM(HET  6T6vT60T?

a. iy b. alGausd C. &meusd d. ofey e. alewL Gafwaisbenso
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61.

62.

63.

64.

65.

itippaarai illaadha Emaraa mannan
ketuppaa rilaanunG kedum
In this Kural the term emam means

a.veeram  b.vivegam c. kaval c. arivu d. answer not known

If Mani buys 5kg of potatoes for X 75 then he can buy kg of potatoes for
% 105.

a.6 b.7 c.8 d.5 e. Answer of these

el 5 H.&. 2 memensAnend I 75 BbG ammRGHBTT eafed, ST I 1055E
&.B. 2_(HnenHHIPHIND QITBIGAITT.
a.6 b.7 c.8 d.5 e. alowL GaMuwelsdemnsv

Ifa:b= 4:1, then the value of vJa/b++/b/a is

a.5/2 b. 4 c.8 d. g e. Answer not known
a:b=4:1aafed va/b++b/a -er waHiy
a.5/2 b.4 c.8 d. g e. alewL Gafwalsdenso

If 6 times of 6th term of an A.P is equal to 7 times the 7th term, then the 13th
term of the A.P. is

a.0 b. 6 c.7 d. 13 e. Answer not known
Qb  SLBHHOHTLTouflowgulsar 6eugk o miidlear 6 WLEGL 7eugd o miinder 7
DL RIGLD & 61efled, DIHIL(hdH OFHTLTeuflengulert 13eugh o mii

a.0 b. 6 c.7 d.13 e. alewL Gxpfwalsdenso

X can do a piece of work in 18 days and Y can do it 24 days. How much Y get
if they finish the work and earn Rs.42,000.

a. Rs.24,000 b. Rs.18,000 c. Rs.20,000

d. Rs.22,000 e. Answer not known

X @m Gouemevenw 18 [T seiad, Y oSeng 24 mHilsefled OFuig  (pQULIT.
Bmaumd  Caiibal  euGaimevenul GFuIH  5.42,000 FLigaTed, Y@ Henl db@Gld
CTens 66666y ?

a. Rs.24,000 b. Rs.18,000 c. Rs.20,000

d. Rs.22,000 e. alewL Gafuwealsvemnsv

(PHeV6UMTHE mFUID E606N60 LDFHENEVLIT6H

gnmieonTd@ Bevenev Hlemev et GHMefled eUHD  TFHewev eTIB  GlFTeLES 6T
QumrmelT wimg!?

a. QFmHBS b. syé®Dd C. Qauger

d. smewr e. alenL QxfNwelsvensv

mudhalilaark oodhiya millai madhalaiyaanhj

saarpilaark killai nilai

In this Kural the term madhalai means
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CHENNAI

a. seruku b. aakam c. veguli
d. thoon d. Answer not known

66. A mother divides X207 into three parts such that the amount are in A.P. and
gives it to her three children. The product of the two least amounts that the
children had %4623. Find the amount received by each child.

a. 67,69, 71 b. 63, 65, 67 c.53,55,57

d. 57,59, 61 e. Answer not known

b ST FHaelid o eten I207m, HFLBHOSTLT auflenguled SiewOUDd  cLpeiTs)
utemsenmall  Ufeas Had  cpeipl  GLHmHHEHHHID 0HThHS  all(HLIeTT.
slupled B®m FPw  OFTemsseie OCUmbsBUeVET T 4623 uGD. @6UGT(H
GWHmBHWD GUDID OFHTensulenend SHTeamIs

a. 67,69, 71 b. 63, 65, 67 c.53,55,57

d. 57,59, 61 e. alewL OxMwaledenso

67. A man is facing north-west. He turns 90° in the clockwise direction and then
135° in the anticlockwise direction. Which direction is he facing now?
a. East b. West c. North
d. South e. Answer not known
@m walgpear L BoBg Hogmw Crrdsl @mbaTer LUBE SRSTID  SHBBID
FHemguled 90° Oaeip, LIBG &SY&HTMD &BDBID HoFdE eHidHmauisd 135°
Cgeprer eefle0, HBCUTSHI 6lbhFH HewFuled o siTenmesr?
a. HsE b. Gums C. ALHG
d. Osme e. alewL Oaflweieamen

68.  The value of a motor cycle 2 years ago was X70000. It depreciates at the rate of
4% p.a. Find its present value.
a. 364152 b. 62514 c. 365412
d. 64512 e. Answer not known
T B FHBH] ATHHHHIT alenev 2 SLEIBBEHHES (et I 70000 Hd BHHSHSHI.
OIFHeT  HI  wGCHTHID 4% eipd GHoBABHI 6@led, DIHET HHBOLITEMSHLI
HImUS TS
a. 364152 b. 62514 c. 365412
d. X64512 e. alewL OapMwaleenso

69.  Sugan ranks sixteenth from the top and forty ninth from the bottom in a class.
How many students are there in the class?
a. 54 b. 64 c. 65 d. 66 e. Answer not known
R UGN gFsela  Hrauflwgwteaid (PpHedledmha 16usTEa|bd, HemLFulsd
GO mhEH 490uFHTHAD 2 6iTeNgl 6lene, SeUIGLILIeD 2 6iTerm GLOTHSH  LOT6w0T6UTH61T 68T
GTGUTEUT b6  6T6116161T6)| 7
a. b4 b. 64 c. 65 d. 66 e. alowL GaMuelsdemsv
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70.

71.

72.

73.

74.

75.

peosvaugmdlwl  Qufwmflesr  GaTLTemUS  mBeIBHEL  LeuHmLW LSS

BxpleH0®melToums @il IDLBIG SHOD 2 6L WTSHTGLD.

a. usal b. mmi c. Suilyb

d. GasmgioL_mig, e. alenL G flwalsdensv

It is more injurious to abandon the friendship of the good, than to
incur the hatred of the many

a. tenfold b. hundredfold c. thousandfold

d. crore fold e. answer not known

Fill in the blanks : 1, 4, 13,40,121,

a. 364 b. 382 c. 256 d. 312 e. Answer not known
Gamgl L @ Hews miyiys. 1,4,13,40,121,
a. 364 b. 382 c. 256 d. 312 e. alewL Gapfwalsdenso

Find a positive number which when increased by 17 is equal to 60 times the
reciprocal of the number

a.17 b. 15 c.8 d.3 e. Answer not known
Qm Wema  eew  WFHULeT 1783 S&HLEWEUTH HMLEGWL LTS
Slel0leuemTemient Hemevaifullesr 60 L MSTGHLD 61660 DieUbleemTEN6IS &HiT6wIH
a. 17 b. 15 c.8 d.3 e. allewL Oz fwalsbensv

The radius of a sphere increases by 25%. Find the percentage increase in its
surface area.

a.25 % b.12.5% c. 125% d.56.25%  e. Answer not known
b Camansdlar oy 25% oFafNs@wlurgl, SiHswigd Uptugie Feeaisn
ST

a.25 % b. 12.5% c. 125% d.56.25% e. el Gzflualsiene
How many terms of the series 1+4 +16 ...... make the sum 1365?
a.4 b.5 c.6 d.7 e. Answer not known

1+4+16+ ... aaip QLA IHHMA 2 BIILBM6ENS Gl I9a0T60 dnbBHe0 1365
SHenLSHGW?
a. 4 b.5 c.6 d.7 e. alowL GaMuwelsdemev

BYhHAH DBy Fnpeucoev GQufiwnfler giement Gamewi(h HLUUMIS CEHBHHESLD
SLBBEL 2L WeuT WTT @(HSHHIBenT 6IILMmS 2 6WITHHID GHM6T Wmgh?
a. ueLeuNT UMmBOBTNIB LUSHBHDH HmodCsH
BELEVTT EHTLTeNE @ilL60
b. Sliumeny S6060Td 6JOJT  LDGTETEH
OaGUUT feoTeniml G&HLD
C. Bd@hH SHlemewiTeny wreTeueny wTGy
Csh&HGHbH HMBEMD WM.
d. o BwEEIUI BHH 2 BToEnD (PBSTHESID
CuBElwi Cuemnilds GBmere.
e. alewL G flwailsenso
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Choose the apt Kural for the following meaning

Who are great enough to destroy him who has servants that have power to

rebuke him?

a. Than hate of many foes incurred, works greater woe
Ten-fold, of worthy men the friendship to forego.

b. The king with none to censure him, bereft of safeguards all,
Though none his ruin work, shall surely ruined fall.

c. What power can work his fall, who faithful ministers
Employs, that thunder out reproaches when he errs.

d. Cherish the all-accomplished men as friends,
Whose skill the present ill removes, from coming ill defends.

e. Answer not known
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HIT THE BULL’S EYE

TEST XXII MENTAL ABILITY

3

4

5

6

7

8

A

C

C

A

A

A

13

14

15

16

17

18

> o=
—_
N

A

B

B

B

C

A

21 | 22

23

24

25

26

27

28

B

A

A

A

D

A

31 | 32

33

34

35

36

37

38

D

A

B

C

C

B

41 | 42

43

44

45

46

47

48

B

B

D

A

C

D

51 | b2

53

54

55

56

57

58

B

B

A

C

B

B

61 | 62

63

64

65

66

67

68

A

B

D

A

B

D

71|72

73

74

75

D

C

C
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